The Recall Wall

Complete the table below:

Fractions Decimals

Percentages
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What's the percentage?
A car dealer is comparing his sales over the past two years.
In 2006, he sold 175 cars.
In 2007, he sold 196 cars.

Work out the percentage increase in the number of cars sold.

The usual price of a shirt is £32.50
In a sale, the shirt is reduced to £29.25

What is the percentage reduction?

Shelley bought some items at a car boot sale and then sold them on ebay.
Work out the percentage profit or loss she made on each of these items.

a) Trainers bought for £15, sold for £20

b) DVD recorder bought for £42, sold for £60.90

¢) Gold necklace bought for £90, sold for £78.30

d) ADVD collection bought for £120, sold for £81.60

« b) 320 by 10%
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a) 500 by 10% ¢) 80by 15%
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The price of laptop 1s increased by 15%.

d) 75 by 20%

The old price of the laptop was £300.
Work out the new price.

a) 400by10%  ¢) 140 by 15%

b) 380 by 10% d) 35 by 20%

The price of a £6800 car is reduced by 10%.
What is the new price?
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